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Integration – the reverse of Differentiation


	Before you start this you need to understand that the notation:
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is used to represent the:

area under the graph of  y = x  

from  x = 1 (known as the lower limit) 

to      x = 2 (known as the upper limit)
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B Equation 1-y=






	Now that you do understand this new notation complete this table:

	Integral
	Area
	2 x Area
	 Upper Limit2  = 
	Upper Limit2 (2
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	Observe from your results that 
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 - You now know that: 

THE INTEGRAL FUNCTION of y = x is the function 
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  i.e.  
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	Using the rule of differentiation you will see that:

differentiating this “integral function”                                 
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confirms that “integration” is the REVERSE of “differentiation”


We write  
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. . . but why ‘c’? – Ask if you don’t know!
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